P - 1l /Spl. [(N+2)+1]/ G/20(0)
PHILOSOPHY
(General)

Seventh Paper
[Old Syllabus]

Full Marks : 100 Time : Three Hours
The figures in the margin indicate full marks.
Section - I
1. Answer any three of the following : 20%3=60

(a) What is the difference between moral and non-moral action ? Explain with
example the different types of non-moral actions. 5+15

(b) What is meant by postulate of morality ? Explain any two postulates in detail.
5+15

(c) Explain and examine the concept of Niskama Karma as described in 7he Gita.

20
(d) Explain the origin and development of Practical Ethics. 20
(e) Explain and examine Bentham’s utilitarianism. 20
Section - II
2. Answer any avo of the following : 10x2=20
(a) Distinguish between passive and active euthanasia.
(b) What are the arguments in favour of suicide ?
(c) Is capital punishment justified ? — Explain.
(d) “Good will is good in itself” — Justify.
Section - IIT
3. Answer any fen questions of the following : 2x10=20

(a) What do you mean by moral sanction ?
(b) What is hedonistic calculus ?
(c) Name different stages of voluntary action.

(d) “Thou oughtes. therefore. thou canst” — What is meant by this statement ?



(e) What is meant by ecology ?

(f) What 1s fatalistic suicide ?

(2) What are the two forms of retributive theory of punishment ?
(h) What is pure reason ?

(1) What is the main tenet of reformative theory of punishment ?
(j) What is rigorism ?

(k) What is called paradox of hedonism ?

() “Nature has placed mankind under two sovereign masters — pleasure and
pain”. Who said this and why ?

(m) What is utilitarianism ?
(n) What is sakama karma ?

(o) What is ethical hedonism ?
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